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I.  Continued mTR of 71YYR 12 N7 1 about a7 (adits, names, entrances to 7 12) — vv. 1-8
II. Further analysis of X mwn
a. fmmp K51 teaches that mmwp doesn’t mean “like tied” but actually tied
b. 10122 nnx...: RN11 — a cow’s head/majority — 2 mnx long; 1 2/3 mnk wide (x6=10 mny; x8=13.3 mny)
i. 97 dispute /n" only if M1 is >8 and <12 in diameter (implied by ®n»a - 8" hadn’t heard xn>»21)
1.If smaller: n™ agrees that we only require 4 01”7
2.If larger: "' 1 agrees that we require Pvva as well
III.  Six questions posed to na11 by »ar
a. 7np 715 if he added an nnR (length of V1WY) to each side of 1117 — does he have PvVIva or just long PTNT?
i. Answer: per mwn —he may extends size of area, as long as he adds yoa (must add independent n'oa invalid)
ii. Alternate: since nywn uses phrase o3 N1VY TY > extend P17 instead of adding pviwa (> valid)
b. /71 725 if the distance is greater than 13.3, does he add yvwa or extend p1017?
i. Answer: from nT '7’s response, defending his limitation of D»nxo n’a — here are o9, unlike 9¥n (etc.) — N¥Nn
1.Implication: mx12 have no n¥'nn > add pvwa (but not making extended 117 as a n¥'nn)
2.Rejection: MR are under rubric of 05 — but could be mx'nn if oversized
c. vppbnwa 5. if a hill rises v within 8”7 of depth, may this be considered a T7?
i. Ansswer: depends on the dispute of whether we apply “doubled-px17”
1.Source: k1 — dispute if we can only imagine a square rock as a 117 (1 degree of imagination)
a) Or: if we can imagine a round rock as square, and then as a 707 (2 degrees of imagination)
d.  p2p nym may a fence of reeds, less than v from each other, be considered a Tm17?
i. Answer: ®n»1 lists tree, fence of 01p nx'n (picket fence) as being considered a M7
1. Assumption: ip n¥n refers to picket fence with reeds within v”x of each other
2.Rejection: may refer to Xm1 (bunched reeds fanning out)
a) Challenge: if so, that is the same as a tree (listed separately in xn’11)
b) Response: then it must refer to picket fence — but that is a 97 (also listed in xn»92)
i. Rather: we must posit that there are two types of 113; there are also 2 types of 12’8
3.Some: suggest that his question was about a X111 and responses are reversed — still no conclusion
e. 02w 7¥m. if a 7¥n opens directly into the area between the 0'ps; may he carry from 7¥n to Poan 1 and vice-versa?
i. Answer: if 1 930, he may; if 2 — he may not (no n’n to carry from 1 9%¥n to another w/o 217y)
1.4177 77 even with an 217y between them at another opening — still may not carry]
a) Reason: people will think an 217y made through the o'vs is valid
2.xa7. if they made an 21y, they may carry (supported by xn»92)
a) 7177 (defense against x11713): it is permitted if they subsequently made another 2y at nxva (21 qxn)
f. nawa op w22 if the water dried up on naw, are the o*oa still valid?
i. Answer: without water, no justification for n’oa — may not carry
ii. p237asked »an: what if well dried up on naw then, on same day, regenerated?
1.22ax. it is like n¥'Nn made on Naw — even T3, it is valid
a) And: even 1”1 who only saw it as valid X1mmn% (p19) — that is T2
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IV. 91YR " if he threw (from 9”m) into the area between n>oa — 270
a. Challenge: this is obvious; they must be valid mx’nn, else how could we carry there
b. Justification: if he made the same structure in 7”01 — still liable
i. Challenge: this is also obvious; since the structure is valid, it must have that validity everywhere
1.Justification: even if 0»a7 are walking through; teaching that 0’17 cannot discredit a nxnn
2.Challenge: he already made that comment, on T:1 (ahead)
a) 7:2 p217v. nv " ruled that if 0’290 777 comes through the oog, push it aside; onan — no need
i. &7 ppnv /7. this teaches the power of mxnn
ii. Answer: he may not concur; he’s just observing that that shows the power of mxnn
1.But here: we learn that 8™ accepts this ruling
V. Analysis of requirement of minimal space around 782 of 2 mnR (779 Yv N NVRY)
a.Background: v:> vy — in order to reach over and drink in another mw1, must have 127 WX in mw1 with water
i. And: same applies to ni vis-a-vis mawyn arn
ii. Analysis: do we extend same obligation to animal?
1.Proposal: if he is holding the cup but not the animal — must be inside; else he may carry water out
2.But if: he is holding both cup and animal, must it be inside?
a) Answer: from our mwn — must be inside
b)  Rejection: perhaps our mwn is a case where he is holding the cup but not the animal
i. Block: that is MOR (to feed it) in any case, per Xn»a
ii. Rejection: per »aR, that Xn» 1 is about a trough in 1”77, v high and V"1 wide, with one side in Do
1.Reason: he may see something wrong with trough and pick it up, then bring "7 out
2.Block: that wouldn’t be 27, since his first intent in raising the cup was not nxxn
3.Rather: he may fix it first then put it back (725 npy)
iii. Alternate comparison with 1% perhaps for animal, we require more than 1217 YWR7?
1.If: he’s holding both, he certainly needs no more
2.But: if he’s only holding the cup, perhaps he requires more
a)  Answer: from our mwn — must be the case that he is holding cup and not animal
b)  Rejection: he is holding both — since he may not feed it all if he isn’t holding animal (as above)
i. Block: as above — that is a unique case, as »ar explained (1”772 ©1aR etc.)
c)Answer: Rn»1a — if an animal’s head and majority is inside, may force-feed it inside
i. And: force-feeding (poa1R) is like holding both — yet requires 12171 1WR
ii. Answer: the animal in question is a camel
1.Support: "1 doesn’t permit doing this with a camel, since it has a long neck
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